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- THE OPEN UNIVERSITY OF SRI LANKA

DEPARTMENT OF TEXTILE AND APPAREL TECHNOLOGY
CERTIFICATE IN INDUSTRIAL STUDIES

FINAL EXAMINATION- 2015/2016

TTI2634-APPAREL TECHNOLOGY

DURATION: 3 HOURS
Date: 26t November 2016 Time : 0930-1230 hrs
Total Number of questions =08 Number of questions to be answered = 06

Answer Question 1, which is compulsory and additional five (5) questions. Question

1 carries twenty-five (25) marks. Other questions carry fifteen (15) marks each.

Compulsory question

(1) (2) What are the three main items required to construct patterns? (3 Marks)
(b) How do you take the bust measurement from a person? (2 Marks)
(c) What is marker efficiency? (2 Marks)
(d) Write three objectives of garment pressing. (3 Marks)

(e) Name five (5) items that are usually included as pattern specifications.

(3 Marks)
(f) With the help of a diagram explain the meaning of “Stitch length”. (2 Marks)

(g) With rough sketches explain the method of constructing a class 3 seam.

(2 Marks)
(h) Write four (4) types of sewing machine beds. ’ (2 Marks)
(i) State three(3) functions of a trade union. (3 Marks)

(j) The cost of quality can be divided into three major categories. What are they?

(3 Marks)

Answer any five (5) questions from following questions.
(2) (a) Define the term “Stitch” according to the British Standard. (3 Marks)
(b) Classify the stitches according to the British Standard. (3 Marks)

(c) Discuss three (3) different types of stitches emphasising the method of formation
of the stitch, top and bottom appearance, applications and the properties.
(9 Marks)
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(3) Feeding mechanism of a sewing machine can be classified as;

(i) Bottom feed

(i) Top feed and
(iii) Special feed mechanisms
Write two examples for each of the category and explain the feeding mechanism of

each of them. (15 Marks)

(4) (a) Describe three (3) reasons for using interlinings in garments with examples.
(9 Marks)
(b) Explain three (3) factors that should be considered when choosing an

appropriate type of interlining for a particular garment. (6 marks)

(5) (a) Briefly describe three (3) factors that should be considered during the process of

lay planning. (6 Marks)
(b) Determine the most economical lay plan for the following contract received by
the cutting room. (9 Marks)
Sizes 10 12 14 16 18 20
Quantity 24 48 72 60 36 12

The maximum allowed depth of the lay is 36 plies.

Maximum number of sizes in one marker is 4.

(6) (a) Describe three (3) different types of sewing room production systems with their
advantages and disadvantages. (6 Marks)
(b) The ticket number given in a sewing thread package is 100. It was found that
this thread was made out of 3 plies. What is the count of a single ply in Nm?
(9 Marks)

(7) Briefly discuss the five (5) total management functions in an organisation.

(15 marks)

(8) (a) Describe the purposes of the performance evaluation. (8 marks)

(b) Briefly discuss the errors associated with the performance evaluation.

(7 marks)
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